3 RmEEH (FM3F7AKRRE)
() 2BHICEHZEBEFN

5 AMIE fM2& R HREE (%)
H#& FEE BER g FeE M BER “H | BER | BER i FeE BER
£ B O 1,262 26 1,31 1,345 21 1,510 -83 5 -139 -6.2 23.8 -9.2
HALE (%) 42.0 61.5 21.5 39.8 61.9 21.1
66 ~ T4 & 355 4 167 333 3 168 22 1 -1 6.6 33.3 -0.6
% & K E 216 12 128 254 10 151 -38 2 -23 -15.0 20.0 -15.2
65l E b F40° - 426 1 162 431 5 173 -5 2 -11 -1.2 40.0 -6. 4
TSRl Eb 540" - 140 5 52 179 4 65 -39 1 -13 -21.8 25.0 -20.0
O EREOEHE. BEABRUEERITEO LTS, EEHITHEMLTLS,
O £ERICETIEHREERNLEHIEEIF42.0%THS.
(2) BBl 56 & 4K i
ONIEN 120 ()
i ./‘\F o
3
2
1
0 10~12 12~14 14~16 16~18
EEE S 4 1 1 1 3 1 2 1 5 1
—— {145 5 5 33 85 101 76 78 86 11 16 4
O ZEHME. U1 (1065~1285) BRUSYH (16B5~188) DM RELTLS,
O ZECERIE. | (18 ~208) DRMEICBRELTL S,
(3) EREMRAFBERKR
R4 SM3E a2 HEK HEE (%)
H EEK wEY g4 SEEH M wEY HE | BER | HER H EEK wEY
miEEEFEN 530 295 535 13 319 -5 3 -24 -0.9 23.1 -1.5
& = 83 41 11 1 64 -28 -23 -25.2 -36.9
; O 4 172 99 161 2 89 1 10 6.8 11.2
o1 i 255 140 272 3 153 -17 -13 -6.3 -8.5
| B 2 (96) 48.1 415 50.8 23.1 48.0
XERMFE 31 17 35 17 -4 3 -11.4
h - 7 22 15 22 4 17 -4 -2 -100.0 -11.8
E "% 222 123 206 6 132 16 4 -9 1.8 66. 7 -6.8
O XERTORLAHBHNEREFTRONERAB.1%)EHHTLD,
(4) BHEMNRERR
R4 SM3E a2 HEK HEE (%)
H& EEK mEY g4 SEEH M mEY HE | BER | HER H EEK wEY
miEEEFEN 530 295 535 13 319 -5 3 -24 -0.9 23.1 -1.5
- H@Ep 21 14 20 12 1 2 5.0 16.7
3)& w O % 40 26 56 4 42 -16 -1 -16 -28.6 -256.0 -38.1
BT O # 29 21 31 1 24 -2 -1 -3 -6.5 -100.0 -12.5
i 90 61 107 5 78 -17 -2 -17 -156.9 -40.0 -21.8
RN 70 45 62 33 8 3 12 12.9 36.4
Iz Bk B 21 9 18 1 3 1 -2 16.7 -18.2
i F O 4 29 16 29 1 20 -4 -20.0
L H 120 70 109 1 64 1 4 6 10.1 400.0 9.4
E E & % 12 7 14 1 12 -2 1 -5 -14.3 100.0 -41.7
B % 95 48 87 't} 8 1 9.2
A JAN | 62 107 1 52 7 10 6.5 19.2
E A I B 35 13 34 15 1 -2 2.9 -13.3
E\&E #H B 10 5 15 8 -5 -3 -33.3 -371.5
F O 4 43 21 44 26 -1 -5 -2.3 -19.2
i 309 156 301 2 161 8 2 -5 2.7 100.0 -3.1
EWEK, FIE 1 8 18 5 16 -1 -1 -8 -38.9 -20.0 -50.0
O E=HFEHAOFEEHBE. EHAEOHSVEMNTESL,
(5) mEFEORREMN (1%) HEHHT—X FER
s J—R b+ 1 RETHR 74 4 (BTEHE —8#)
- J—X b 241 MAEFEE 65 ¥ (AIER +6#)
+ J—R b+ 3f TERREHET 60 44 (RT&HE =0#)
- J—X b+ 4l —RFELE 27 (ATEHR —5#)
+ J—R b+ 5f ) ] 25 # (AT&HE +3#)

_4_




